### RESOLUTION NO. <u>09-16</u> CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER John Beals ON THE DAY OF Jebruary, 2016.

A RESOLUTION ACCEPTING THE BIDS SUBMITTED BY ADVANCED TURF SOLUTIONS, GREEN VELVET SOD FARMS, HARRELL'S LLC, HELENA CHEMICAL, SITE ONE LANDSCAPE SUPPLY, AND TRUPOINTE TURF & ORNAMENTALS, FOR FERTILIZER FOR THE GOLF CLUB AT YANKEE TRACE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO CONTRACTS IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for fertilizer for The Golf Club at Yankee Trace according to specifications prepared by the City, and

WHEREAS, Advanced Turf Solutions, Green Velvet Sod Farms, Helena Chemicals, and Site One Landscape Supply were the lowest and best bidders on various products.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the following bids totaling \$27,371.95 are hereby accepted for fertilizers for The Golf Club at Yankee Trace, are marked as Exhibits "A," "B," "C," "D," "E," and "F" attached hereto and made a part hereof:

- A. Advanced Turf Solutions \$2,116.00 40 bags of Andersons 18-9-18 Contec DG.
- B. Green Velvet Sod Farms \$7,519.25 475 bags of 12-0-3 .15% Dimension 25%SCU sgn 215 at \$7,519.25.
- C. Helena Chemicals \$3,487.50 250 bags of 30-0-10 50% PCSCU slow release at \$3,487.50.
- D. Site One Landscape Supply \$14,249.20 250 bags of Merit .2% 14-0-0 20% Polyplus at \$4,085.00; 380 bags 24-3-12M 80% Slow Release at \$8,052.20; 320 gallons of 12-0-0 Iron + Chelated Zn at \$2,112.00.

Section 2. The City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payment pursuant thereto.

Section 3. This resolution becomes effective at the earliest date allowed by law.

PASSED this 15th day of February, 2016.

Brook of System

ATTEST:

Clerk of Council, City of Centerville, Ohio

#### **CERTIFICATE**

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 09-16, passed by the Council of the City of Centerville, Ohio on the 15th day of February 2016.

Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

## 2016 FERTILIZER BID THE GOLF CLUB at YANKEE TRACE CITY OF CENTERVILLE

ALTERNATE PRODUCT	QUANTITY	<b>UNIT PRICE</b>	TOTAL
EC 13-0-4/.15 DIMENSION 20% RXN	475 BAGS	\$18.91	\$8,982.25
	50# bag		
AND 15-0-4 2 MERIT 25% FORT-N	250 BAGS	\$19.94	\$4,985.00
	50# bag		
AND 18-9-18 DG 60%MU	40 BAGS	\$52.90	\$2,116.00
	50# bag		
FOLIAR-PAK AMPERAGE 10-0-0	128 JUGS	\$58.67	\$7,509.76
	2.5 Gal jugs		
LEB 2500-10 100%MESA 100% SOP	250 BAGS	\$34.75	\$8,687.50
	50# bag		
LEB 24-0-18 100%METH 100% EXPO	380 BAGS	\$38.60	\$14,668.00
	50# bag		
			\$46,948.51
	EC 13-0-4/.15 DIMENSION 20% RXN  AND 15-0-4 2 MERIT 25% FORT-N  AND 18-9-18 DG 60%MU  FOLIAR-PAK AMPERAGE 10-0-0  LEB 2500-10 100%MESA 100% SOP	EC 13-0-4/.15 DIMENSION 20% RXN 475 BAGS 50# bag  AND 15-0-4 2 MERIT 25% FORT-N 250 BAGS 50# bag  AND 18-9-18 DG 60%MU 40 BAGS 50# bag  FOLIAR-PAK AMPERAGE 10-0-0 128 JUGS 2.5 Gal jugs  LEB 2500-10 100%MESA 100% SOP 250 BAGS 50# bag  LEB 24-0-18 100%METH 100% EXPO 380 BAGS	EC 13-0-4/.15 DIMENSION 20% RXN 475 BAGS \$18.91  AND 15-0-4 2 MERIT 25% FORT-N 250 BAGS \$19.94  SO# bag  AND 18-9-18 DG 60%MU 40 BAGS \$52.90  FOLIAR-PAK AMPERAGE 10-0-0 128 JUGS \$58.67  2.5 Gal jugs  LEB 2500-10 100%MESA 100% SOP 250 BAGS \$34.75  50# bag  LEB 24-0-18 100%METH 100% EXPO 380 BAGS \$38.60

BID SUBMITTED BY: ADVANCED TURF SOLUTIONS, INC.

BID MANAGER: SUSIE LOGAN V.P. OF SALES: SCOTT BRAME

SALES REPRESENTATIVE: BRIAN CIOTTI



# YANKEE TRACE GOLF COURSE FERTILIZER BID 20106 FERTILIZER BID PRODUCTS

2/2/2016

	UOM	Quantity	UNIT PRICE	TOTAL
12-0-3 .15% Dimension 25% SCU sgn 215	bag	475	\$15.83	\$7,519.25
15-0-4 w/ Merit 25% nsn (sgn 215)	bag	250	\$18.73	\$4,682.50
23-0-6 50% NSN 2% (sgn 150)	bag	380	\$18.92	\$7,189.60
30-0-5 50% SCU	bag	250	\$15.92	\$3,980.00
18-9-18 Contec DG	bag	40	\$52.90	\$2,116.00
15-0-0 Ferromec (alt for 12-0-0 Fe and Zn)	gallon	320	\$8.22	\$2,630.40
1000.000				\$28,117.75

CRAIG FRYMAN 937-603-8414

## Exhibit C

Fortilizer			7.15.4
AND THE RESIDENCE OF THE PROPERTY OF THE PROPE	Quantity	Costant	Total Cost
12-0-3 +.15% Dimension slow release(SGN 215)(13-0-2.15% Dim, 25% Slow	475 hags	15.50/bag	7362.5
Andersons 15-0-4 + .2% Merit - (19-3-4 .2% Merit 30% PCSCU (SGN 200+)	250 bags	517_38/bag	\$4,345.00
24-3-24 80% slow(SGN 150) - (20-0-20 with Regain stabilized N)(SGN150)	380 bags	\$19.00/bag	57,220
30-0-10 50% PCSCU alow release(SGN 200+)	250 bags	\$13.95/bag	53,487.50
12-0-0+Tron and Zinc(Elemax 11-8-5 w/ micros and plant extracts	320 gal	513.00/gnl	\$4,160.00
talal			\$26,575,00

#### Quotation



Stronger Tagether

Cincinnati OH #515 4055 Commercial Blvd Cincinnati, OH 45245-2146 W: (513)943-0940

Created	Quote#	Due Date	<b>Expected Award Date</b>	Expiration Date
01/27/2016	2551722	02/03/2016	02/27/2016	02/27/2016

Printed	Job Name	Job Description	Job Start Date
02/01/2016 14:34:12	Centerville, City	Fertilizer, Yankee Trace Golf Course	02/27/2016

#### BIII To:

City Of Centerville DBA The Golf Club At Yankee Tr (#600550) 100 W Spring Valley Pike Dayton, OH 45458-3760 W: (937)428-4745

#### Ship To:

City Of Centerville DBA The Golf Club At Yankee Tr (#600550) 100 W Spring Valley Pike Dayton, OH 45458-3760 W: (937)428-4745

Ī	Line #	Item #	Item Desc	Qty		Extended Price
-	1	Fertilizer		1000000		
*	2	702015	Dimension 0.15% 13-0-5 30%Potyplus 50# LESCO Item Note: "Alternate/Equal for 12-0-3 .15% Dimension 25% slow release 215 SGN	475	17.210	8,174.75
*	3	091533	Merit .2% 14-0-0-20% Polyplus LESCO Item Note: *Alternate/Equal for 15-0-4 Merit .2% 25% slow release 215 SGN	250	16.340	4,085.00
*	4	510148	24-3-12M 80% Polyplus 1Fe Item Note: *Alternete/Equal for 24-3-24 80% Slow release 150 SGN	380	21.190	8,052.20
	5	С	NO BID Item Note: 30-0-10 50% Slow Release 150 SGN			
*	6	510379	Country Club MD 18-3-18E 78% MethX 1.5Fe .65Mg .5Mn SGN 80 40# ftem Note: * Allemate/Equal for Andersons 18-9-18 Contec DG	40		16
	7	084050	LESCO Iron + Chelated Zn 2.5 Gal	128	16.500	2,112.00

\* Alternate lequal, See attached label.

Total Price: \$ 24,268.35

Quoted price is for metertal only. Applicable sales tax will be charged when invoiced. All product and pricing information is based on the latest information available and is subject to charge without notice or obligation.

Bids .

SiteOne Landscape Supply

1385 East 36th Street

Cleveland, Ohio 44114

Ph: 800-321-5325 ext. 2550

Fax: 248-581-1433

Email: bids@SiteOne.com

LOCAL SiteOne Landscape Supply Branch. 4055 Commercial Blvd. Cincinnati, OH 45245



Harrell's LLC P.O. Box 935358 Allanta, GA 31193-5358 (863) 687-2774 FAX (863) 904-1545 W.A.T.S (800) 282-8007

Ship To: THE GOLF CLUB YANKEE TRACE 10000 YANKEE STREET **CENTERVILLE, OH 45458** 

Bill To: THE GOLF CLUB YANKEE TRAC 100 W SPRING VALLEY **CENTERVILLE, OH 45458** 

Quot	e shile
Order Date 1/25/2016	Page I of 1
Cust # YANTRA	Salesperson 212
P.O. Number Fertilizer Bid	Confirm Only No
NOBLES	/ILL

Con	f Item/Quote	Description - Description	Quantity	U/M	UnitiPrice	Exc.Price
No	887175	12-0-5 w/.125%Dim 30%PCU44.5 MOP Reg-50#	475	50 lb	\$16.69	\$7,927.75
No	814028	21-0-8 w/.20%Merit 50%PCU44.5 MOP Reg-50#	250	50 lb	\$25.02	\$6,255.00
No	822854	23-3-18 Poly 80%41 and 20%43 Mini 50 lb	380	50 lb	\$37.65	\$14,307.00
		22				

Req Ship Date: 3/31/2016 - On or Before

**Delivery Comments:** 

#### TERMS & CONDITIONS

Sellen relains life to above listed merchandise until fully pard for. If account is not paid within 20 days from billing date. I agree to pay a finance charge of it 5% per month, which is an annual percentage rate of 18% applied to the previous balance without deducting current payments and/or credits appearing on this statement. I further agree to pay attorney's fees and other collection costs incurred it! shall further agree to pay attorney's fees and other collection costs incurred it! shall

Subtotal

\$28,489.75

\*Estimated Taxes/State Fees

\$6.91

Order Total

\$28,496.66

\* Includes Applicable Tonnage, Nitrogen, and Millage Fees

#### Yankee Trace Golf Course Fertilizer Bid

Submitted for February 3, 2016 City Manager

City of Centerville 100 West Spring Valley Road Centerville, Ohio 45458 Trupointe Turf & Ornamentals 818 South US 42

P.O. Box 117 Lebanon, OH 45036 Bob LaChance (60220)

Contact Name: Terry Taylor

ontact Name: Terry Taylor					
ertilizers					
475	50#	12-0-3 .15 Dimension 25% slow release 215 SGN	12-0-0 .15 Dimension, 100% NS Regain	\$15.39	\$7,310.25
250	50#	15-0-4; Merit .2%; 25% slow release; 215 SGN	15-0-5 + .2 Mallet, 25% XCU,	\$17.49	\$4,372.50
380	50#	24-3-24; 80% slow release; 150 SGN		\$28.58	\$10,859.56
250	50#	30-0-10; 50% slow release; 150 SGN	30-0-10 FWY, 50% XCU, SOP,SGN 150	\$22.72	\$5,680.00
	50#	Andersons 18-9-18, Contec DG; SGN 90;	Andersons 18-9-18, Contec DG; SGN 90;	\$38.88	\$1,555.20
		12-0-0 chelated Iron		65.40	\$2,076.80
320	gal			\$6.49	